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oid user_join(char * ID)
FILE *fp = fopen("../userlist.txt", "a");
fprintf(fp, "%s", ID);

fclose(fp);

void user_join(char * ID)

{

FILE *fp = fopen("../userlist.txt", "a");
fprintf(fp, "%s\n", ID);

fclose(fp);
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while(fgets(one_line, 499, original_file) != NULL) while(fgets(one_line, 499, original_file) != NULL)

PS.print_current_state s // QA Zog AEf A ?S.print_current_statewz'1;
if(read_update()) // M2 & 2 2 S0 %f(read_us)date()) /[l ME 5§
{

int now_command; int now_command;
now_command = read_commmand(); now_command = read_commmand();

witch(now_command) switch(now_command)

2 {

case 1 :
printcontroller(now_command);
break;

case 2

return;

case 3

case 4 :
refillcontroller(now_command);
break;

case 5

case 6 :

case 7 :

manageusercontroller(now_command) ;

break;

case 1
printcontroller(now_command);
break;

case 2

fclose(new_file)

return;

case 3

case 4 :
refillcontroller(now_command);
break;

case 5

case 6 :

case 7 :
manageusercontroller(now_command) ;
break;




buf_year[5];
~ buf_mon[3];
ar buf_mday[3]);
r buf_hour[3]);
buf_min[3];
new_file_name[13];

original_file = fopen(WT.file, "r");
timer = time(NULL);
time(Btimer);

printf (buf_year, "Xd",t->tm_year+1969);
ntf (buf_mon, ,t->tm_mon+l);

printf (buf_mday, ,t->tm_mday);
printf (buf_hour, ,t->tm _hour);
rintf (buf_min, “%d",t->tm min);

sprintf(new_file_name,"../% . txt" - 390 ->tm_ 1 ->tm_mday, t->tm_hour, t->tm_min);

buf_sec[3);
* new_Tile_name[13);

original_file f n(WT,.file, “r");
timer ( L)
t = localtime(Stimer);

(buf _year, ", tootm_years
f (buf_mon, " ,t->tm_mon+1);
(buf_mday, ,t-otm_mday);
(buf_hour, yteotm_hour);
(buf_min, ° yt-otm_min);
(buf_sec, "Xd", t->tm_sec);

intf(new _file_name,”../XdXNdXdXdXdNd.txt", t->tm year+1900, t->tm mon+l, t->tm mday, t->tm_hour, t->tm_min, t->tm_sec);



Num_of_Line++;
for (1 = ©; 1 < 3@; i++)

ch = line[i];

if ((ch>32) && (ch<127))
Num_of_ Alpha++;

else if (ch == 32)
Num_of_Space++;

while (fgets(line, 255, file) != NULL)

{

Num_of_Line++;
for (1 = 0; 1 < 30; i++)

ch = line[i];

if ((ch>32) && (ch<127))
Num_of_Alpha++;

else if (ch == 32)
Num_of_Space++;

f(1line[i] == '\n"')

realks
break;

{
}
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while(fgets(read_wait_line, 49, fp) != NULL)
{
temp_file_pointer tell(fp);
fclose(fp);
char * temp_paper = (char *)malloc(sizeof(char)*10);
WT.ID = strtok(read_wait_line,",");
WT.file = strtok(NULL,",");
temp_paper = strtok(NULL,","); while(fgets(read_wait_line, 49, fp) != NULL)
WT.paper = atoi(temp_paper); {

PS.print_current_state = 1; temp_file pointer = ftell(fp);

fclose(fp);
char * temp_paper = (char *)malloc(sizeof(char)*1e);
if(PS.wait_num > 0) WT.ID = ztrtok(read_wa%twllne,",”);
{ WT.file = strtok(NULL,",");
PS.wait_num --; temp_paper = strtok(NULL,",");
} WT.paper = atoi(temp_paper);
PS.print_current_state = 1;

printinterface(WT);

if(PS.wait_num > 0)
{

}

PS.wait_num --;

printinterface(WT);




FILE *fp = fopen("../userlist.txt", "a");
fprintf(fp, "%s", ID);

fclose(fp);

void user_join(char * ID)

{

FILE *fp = fopen("../userlist.txt", "a");
fprintf(fp, "%s\n", ID);

fclose(fp);
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oid refill_paper(int amount)

int i;
PS.print_current_state = 2; PS.print_current_state = 2;

for(i = 1; i<(amount+1); i++) // b Wl for(i = 1; i<(amount+1); i++) // amount

if(read_update()) AH %f(read_update()) / AH

int now_command;

int now_command;
= 2 now_command = read_commmand();

now_command = read_commmand();
‘ switch(now_command
switch(now_command) { ( = )
{ case 1
case 1 : case 2
case < printcontroller(now_command);
printcontroller(now_command); break;
break; case 3
case 3 : case 4

case 4 : refillcontroller(now_command);

refillcontroller(now_command); break;
break; case S
case 5 case 6
case 6 case 7
case 7 manageusercontroller(now_command);
manageusercontroller(now_command); break;
break; } }

} } PS.print_current_state = 2;

. - PS.temp_paper;
PS.print_current_state = 2; e

PS.temp_ink; £ o ==
PS.current_ink ++; % (((i¥1@) == @) || (amount

if(((iﬁlee) == @) || (amount == i)) 100 ZHMUAHLL, OFX|9 2 lcdinterface("admin", ©,

lcdinterface("admin"”, ©, ©);

}

if(PS.wait_num >0)
{

if(PS.wait_num >0) read_wait();

{ s

read_wait();

}




void refill_ink(int amount)

{

int i;

PS.print_current_state = 2;

if((amount + PS.current_ink) > MAX_INK)
{

amount = MAX_INK - (PS.current_ink);
}

for(i = 1; i<(amount+1l); i++)
if(read_update())

int now_command;
now_command = read_commmand();

switch(now_command)

{
case 1 :
case 2
printcontroller(now_command);
break;
case 3
case 4 :
refillcontroller(now_command);
break;
case 5
case 6 :
case 7 :

manageusercontroller(now_command);

break;

}

PS.print_current_state = 2;
PS.temp_ink ++;

PS.current_ink ++;

if(((iilee) == @) || (amount == i))

lcdinterface("admin®, ©, 8); /

int i;

PS.print current state = 2:

if((amount + PS.current_paper) > MAX_PAPER)
{

}

amount = MAX_PAPER - (PS.current_paper);

for(i = 1; i<(amount+l); i++)
i?(read_update())

int now_command;
now_command = read_commmand();

switch(now_command)

{
case 1 :
case 2 :
printcontroller(now_command);
oreak;
case 3 :
case 4 :
refillcontroller(now_command);
break;
case 5 @
case 6 :
case 7 :
manageusercontroller(now_command);
break;

}

PS.print_current_state =

PS.temp paper++;

PS.current_paper ++;

i?(((i%le) == @) || (amount == i))

lcdinterface("admin®, €, 2);

if(PS.wait_num >9)

read_wait();
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